Math 226.05 HW Quiz IlI

1. Find the slope of the tangent line to the graph of the function below at the point (2,4) by
taking the limit of the slopes of secant lines. Then find the equation of the tangent line.
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Math 226.05 Quiz VII

1. Find the derivative of the function below.
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Solution: f'(x) = 3x%Vx +1 +x° * %(x +1)7z — 2sec? 2x
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2. Find the y-intercept, zeros (if any), vertical asymptotes (if any), and horizontal asymptotes
(if any) of the function below. Then perform a sign analysis and graph the function.

-4 (x-2)(x+2)

== 51 \e CO.

Zeros: x=2 and -2

argeo tﬁ e
enieW P age ®

Solution: y-intercept: x=0,y=--4/-1= 4N0 es Slgn analysis:

Py




Name

Math 226 Spring 2017 Midterm | 3/10/17

1. Use the definition of the derivative (in terms of f(a+h) and f{a)) to find the derivative of
the function below at the point (4,2).
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For problems 2 — 3, find the derivative, f’{x)fﬁeach ‘evs
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3. f(x) =
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Solution: f'(x) = G2 3x




